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1. PCA &M

# Po G A
pca = PCALN_components=2)

# POAE EB WOOE E PRiECeT IfE =4
encoded_x = pca. fit_transformi(x)
print (encoded_x)

[[-3.99285658 1.66913246]
[ 1.67060446 -2.31824193]
[-0.10291916 5.27347484]

BRe77E7Y 2. 06269135]

[ 7.
[ 3.80378804 -2,35897163]
[ 2.806547 -1.44199069]]
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3 SHMOIA 2 HE=S HIoIAZ
4 SHI0AHZ] 2+ HEZS HIoIAHA
430461 E'Htlllll ‘—='-—?H IE*-_rl === ZFHHL CIHE
430462 I ‘—="—:H ==+ Z=t= 2L CIHE
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z https://search.pstat ic.net/conmon/?autofotate=. .. 2022-09-01 | O
3 https://search.pstat ic.net/conmon/?aut ofotate=. .. 2022-09-29 | 0
4 https://search.pstat ic.net/conmon/Taut ofotate=. .. 2022-07-31 | 0
430461 https:/fsearch.pstatic.net/connon/Yaut ofotate=, .. 2022-10-30 | B
430462 https://search.pstat iconet /conmon/Taut cRotate=, . 2022-10-01 | B
430463 https://search.pstat iconet/conmon/Taut oRotate=, .. 2021-12-03 | B
430464 https: //search.pstat ic.onet /conmon/Taut oRotate=, .. 2022-02-28 | B
430465  https: //search.pstat ic.onet /conmon/Taut ofotate=, .. 2022-08-26 | B
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chig @ 2290915, 61 28467657
p—value @ 0.0
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chid + 19541294, 926991 746
p—value @ 0.0

= - S P 2H0lHE 5
2= unigue value == ¢
2= unigue value == ¢

== unigue ualue ]H—r -
B unigue value == ¢
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El=
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4, AFBILA| 2 M (Cramer's V) 48

[ ARl - ZHHISE Ha Cramer's ¥V 229 ]

A= Cramer's ¥ Hl== : 0.B686003075107763

[ SHAEZ - IHHE Ha= Craner's ¥ 229 ]

HAEZ Craner's ¥ Hl5= ¢ 0.5158484602866345

= =

= T

[ 211 22] - 2HHIE B Craner's ¥ 249 ]

SHEN22] Cramer's ¥ A2 ¢ 0.99341415584459465

[ 232 - Y HA: Craner's ¥ 24 ]

222 Cramer's ¥ H== : 1.0

[ L2t=Zkmn) - FHHIS H Craner's ¥ 24 ]

1 Cramer's Y Hl== : 0.34963750202061067

Aicn) - FHYE Ha: Cramer's ¥ 24 ]

2 FHAHEMAen) Cramer's V¥ Hl== ¢ 0.3991321153347855

MESH(1/10) - 2HHE Ha Cramer's ¥ 24 ]

MEZF(1/10) Cramer's ¥ Hl== : 0.356899062 1044261
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1. ZX|AE] 57 BA 2

« feature BZ7|2(°C), BZ S5(mis), B ST (%), A 2 AZ(MIM2)

+ label : 7HH|H

L

Oep. Yariahle: JtHIYE  RB-squared: 0. 001
Made] : OLs  Adi. R-sauared: a, 0ot
Met hod: Least Squares F-statistic 70.36
Date: Sat, 24 Dec 2022  Prob (F-statistic): 1.13e-50
Time: 00:23:39 Log-Likel ihood: -4, 2848:=+06
Mo, Observations: 430462 AlC: 3. 570e+06
Of Residuals: 430457 BIC: 8, 570e+06
Of Model: 4
Covariance Type: nonrobust

coef std err t Pt (0,025 0.975]
const 9014, 9328 54,528 139,707 0. 000 898558, 511 9141, 455
LA = -G55.5398 61,730 -10.619 0. 000 -776.530 -534. 550
He=E= -21.1449 12,565 -1.683 0,092 -45.773 3,483
Hetlsx 221.9144 95,965 2,289 0,022 31,865 411,964
EFHIE AL -3.0872 1.940 -1.581 o121 -5.983 0.813
Onnibus: 323340.541  Durbin—Watson: a.113
Probi Onnibus): 0.000  Jarque-Bera ([JE): Zh048, 237
Sk 0.018  Prob(JB): 0. 0o
Kurtosis: 1.819  Cond. Mo. 201,
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10)MEXNCQ pnd ML &&
= H = =l
1. 8t&, HIAE O|0|E &2

from sklearn.model _selection import train_test_split

features = df . iloc[:, 1:]

label = df ["FtHIS ']

w_train, w_test, v_train, v_test = train_test_split(features, label, test_size=0.4, stratify=label, random_state=[)
print(x_train.shape, #_test.shape, v_train.shape, v_test.shape)

(12470, 10) (8314, 10) (12470,) (B314,]

~ H|IAE GIO|E] H|E : 40%

- stratifyE X-&5l0{ label 2= HESH £2



rf_model = RandomForestClassifierin_estimators=50, criterion="entropy', random_state=10)
rf_model . fitix_train, w_train)

- LiE 2™ E2| 2% : 5094

- BE 25 WY entropy(RAAMS HEE X[ Y)

M



10)HEX 29 ML ¥
HE e =

report = classification_report(v_test, v_pred)
print(report)

HEE - 069
MEHE - 069
Hac -0.71
— HEE NEE HLE 22 0690718 45 B0 EE2E 22 G52 BxEEE
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RandomForest Model - ALC(D.865)
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10)dsd0 & ML
XGBoost CIx E&5 pd

1. XGBoost &t& 20| 47

from sklearn.preprocessing import Label Encoder

features = df.iloc[:, 1:]
label = df ["2HH 2]

encoder = Label Encoder ()
encoded_label = encoder. fit_transform(label )

=

— XGBoost R st&SH M= 20|28 HED 0B E =XI= O 2 A|&HS| O} SiLC},
= DHE517]| 2I8l| LabelEncoderE 0|26l X{ = H S},

¢l =HS



10)HEXQ o ML 84

XGBoost CIx E&5 pd

2. XGBoost 2&! M 8l 5k

wab_mode| = XGBClassifierin_estimators=100, random_state=1)
wab_model . fit(

¥_train, v_train,

eval _metric="auc’,

eval _set=[[x_train, v_train], [x_test, w_test]],

ear |v_stopping_rounds=:
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10)38XYU 2F ML o5

XGBoost LI &5 pd

5. 58 38 F&

Feature impaortance

A

T {2052 1.0

T T ) e B R 2 112,10

| < e e | 7710

T T ) | 04250

Features

P L 751 1.0

T s | e e 150100

Eg HE/10) E—=0040

5 R mm) -j— 7320

2 HHE Ecm) -0

32740

T T T
a 00 10000 15000 20000 25000 30000
F score

— HH jx EME: LzrZHmm), € FH 2L em), B2 H22H110)

35000




10)d 5N 2 ML &&
XGBoost CI& 25 BH

6. 54 MH &, ME2 XGBoost 2 o5 Zut- Fele, JLE, A
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|:.|E_.|L_I MLP |:_|-

DL ¢

A
=
H = ||
LTI !;!- =
1.g4|0|& ¥-st QA

import pickle

!

-0
M oo

from tensorflow keras utils import to_categorical

with open(

encoder = pickle, load(f)

encoder . transform(v_train)
encoder . transform{v_valid)
encoder . transform({v_test)

v_train =
v_valid
v_fest =

v_train = to_categorical (v_train)
v_valid = to_categorical (y_val id)
v_test = to_categorical (v_test)

print(v_train.shape, v_valid.shape, v_test.shape)

(8727, 176B18) (374, 17615) (8312, 17615)

=
2

HE9| Bo| = Hell= FEE
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CAIOIE A2l A S HHEE _encoder . pickle’,

517| I8l to_categorical() EES ALSI0] 2I-3t

‘rb') as f:
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11)83d 22 DL g5
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2. 2Held 2 Layer 15

[ 23 Layer A 15 ] [ 22 Summary &9l ]

input _dim = ¥_train.shape[-1] Model : "model ™

tag_size = v_train.shape[-1]

dropout_ratio = 0.3 Laver (tvpe) Output Shape Param #
input _1 {InputLayer) [(Mone, 7] a

# BE=
inputs = Input(shape=(7,]) dense (Dense) (Mone, 1024) g192
4 SLi= dense_1 (Dense) (Hone, 512) B24800
ne = Denselunits=1024, activation='relu' J(inputs)

Dense(un|ts 512, activation='relu')(net) dense_2 (Dense) (Hone, 256 131328
net = Densefunits=256, activation='relu'){net)
net = Densefunits=128, activation="relu Jinet) dense 3 (Dense) (None, 125) 3286
net = Densefunits=64, activation='relu' ){net) dense_ 4 (Dense) (None. Bd] AoEE
# EEE dense_5 (Dense) (Hone, 17615) 1144975

outputs = Denselunits=tag_size, activation="softmax' ){net)

Total params: 1,880,447
# 02 A5 Trainable params: 1,850, 447
model = Model {inputs, outputs) Non-trainable params: O

Hone
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model . compi lefopt imi zer=adan( learning_rate=0.0017, loss='categorical _crossentropy', metrics=['accuracy'])

[ A%s} e A ]

- X|=3} gt (optimizer) : Adam € 12|15 + &5 0.001
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4. X7 B8, M3 ZRIE EF

= EEJ_IF|}“S1III3'DDII'IQ|: | [_’E I%‘E]
monitor="val_loss’,
pat ience=10 - BLIEE J|&: 8BS loss &
) - A7 ER AL 108 K| A, 4

= Mode| Checkpaoint |

monitor="val_loss’, [ @E X3 ZQIE ]
filepath="save_mnodel  hdfh’, oy
|.I,|Er|:":|SE=|:|J - EL'E-'EJ j|T'__ : Oo IOSS DHAI-
save_best_only=True - AT AME[O| BEIS =It X{E



11)H2d 2% DL ¥
22l'd MLP LS 2F 22

5. o st

ot
>

history = model . fit§
¥=¥_train,
v=y_train,
batch_size=64,
epochs=:00,
val idation_data = [x_valid, w_valid],
cal |backs=[es, cpl.
yerhose=2

[ 22 o5 oi2to|E 2% ]

- batch_size : 64 (32= 5 &0 @2 22l 1282 {2 HA 2©

- epochs : & 2008 st& HH=
- validation_data : 2= H|0|E{ X|H

- callbacks: 7| £8, §|3 ZOIE K| X|H



<D
jol'

ol

10

pl

11)

jol

<1

fuf

train loss
lid |

e i

i oo NS

T
140

T
120

T
100

SHEIA R Sk |0s5sQ HE [oss= 8}LIO)

Xl
-

=Y

Iof

-



07

064

05+

04

031

029

ﬂIN

Huz b|@

/\/\\
A I _,-" JoN S \/\/\

A \| ,-"\.\,f Vv
N ,—‘/\J\ﬂl |'/U|"|' il

\
~ ¥

ﬁ'\\

oA HE W

T
[

o™=

T T T T
B 100 120 140

EO[M L=0| =7} B50| /St T,

e

- O

tLte] 22 2 =~5HA| ElL.



11)5eld 22 D

L
HEld MLP L& 2 &

od
AV |
|
oz
Jiok
H
>
—
rot
L
o
ug
|.|-|

— ‘E',lﬁ_,lE - 0.69
— E’%E S 0B
— XS E 069

. Motz Hoz EZoM MHE2Z 061-0.69 A0S ZF



11)E83 2
g2d MLP C

=l
L

L o5
|.7<I=I
S =

il
F LS

It - ROC Curve, AUC

True Positive Rate
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ROC Curve

MLP Classification Model - ALUC{D 84T
ROC Curve - ALCD.500)
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5) Hj X
AWS EC2 QAHA

i-01f04003dd6e7988f (Django_WebServer)Oi| L3t QIARA 9 0F (][ 22 || aze2a8 v |[ = v

less than a minute Z0fl HH|0|EE

QIAEA D HEE Ipva T =2{0|8l IPv4 T2
i-01f04003dd6e7988f (Django_WebServer) 3.36.207.105 | 7 F4E [4 172.31.35.69

IPv6 T2 PIAEA ME] I E2 IPv4 DNS

- (OEES ec2-3-36-207-105.ap-northeast-

2.compute.amazonaws.com | 7H 2 F24 8 [A

TAEOIE RE Z2t0[ 8! 1P DNS Ol S(1Pva Tt o)
IP 0| &: ip-172-31-35-69.ap-northeast-2.compute.internal ip-172-31-35-69.ap-northeast-2.compute.internal

=2to[4l 2|~ pNs 0§ SH PIAEA-S Y EHEA pFA

IPv4(A) t2.micro 3.36.207.105 [HE2 IP]

S ELE IPFEL VPC ID AWS Compute Optimizer 7|

- vpc-0f851f160a7663f22 [A @ HE A2 213l AwS Compute Optimizer0i| S E212HL
C

| bS] LOHE 7] (3

IAM &gt NS S Auto Scaling 1& 0|8
- subnet-007d2e5482e84158d [4 -
0 Name v | QAEAp | QUAEIA AEf v | QARHARE v | HEf HA | B8 HEl | 721389
Django_Webs... i-01f04003dd6e7988f Al = t2.micro 2/27f BA St 245 88 ap-northeast-2c
jang



5) Wi &
Ubuntu 24902 EC2 H=&

PuTTy ClientE At3I0 #1222 Ubuntu & AMH %

ubuntu@ip-172-31-35-69: ~/TODAYS

Authenticating with pub
to Ubuntu

t comprehen
/
//ubuntu.
run: apt

.04.1
-upgr

pbuntu@iy
nbuntulip

1v) ubuntu@i
(venv) ubuntulip




5) uij &
Localzf 15512 £t 247

Local HFE2| Django Project?} Q15517| 2ot dH T

"/etc/systemd/system/uwsgi.service™ 13L, 236C "uwsgi.ini" 12L,




4 — ol
Ad 2 socknog
Socket It A gl AlSHS ESH YUAH|A AlsH

ubuntuf@i

ubuntu

ubuntu@ip-

(venwv)
(venv
(venv
(venv

(venv

Vv

)
)
)
)

(‘J*—Il‘J)

e

172-3:

ubuntu@ip-
ibuntu@ip-

ubuntuf@

ibuntu@ip

R o 2

e

ubuntugiu—lu

177N

ubuptu@‘p—;,;—

ntugi

)

e

venv/bin/activat

w W

f‘h w W w w

uwsgli.1ini

n— ] ]/




Nginx config A’d1} Nginx-sites-enable 4% dipetel o1

;}? ubuntu@ip-172-31-35-69: ~/TODAYS

gorke: ( es auto;

pid /run/nginx.pid; root /var/www/html;

include /etc/nginx/modules-enabled/*.conf;

dlcvents ! index index.html index.htm index.nginx-debian.html;
worker connections 76

] # multi accept on; Server name _;

location / {

http {

Ly include /etc/nginx/uwsgi params;
: S WwWsgl pass django;

# Basic Settings ‘ uwsgl pass djang

44 1

upstream djangof{
server unix:/home/ubuntu/TODAYS/uwsgi.sock;

include /etc/nginx/mime.types;
default type application/octet-stream;

—— INSERT ——




Nginx &t Uwsgi &% ZHA|ZF S AFEf 24l

@ ubuntu@ip-172-31-35-69: ~/TODAYS

X

N NN

2
2

(w B w]
e B e I B B s N N |

O N

lw il w]

uWwSG

y

ines 1
® u

Main PID:
Status

NN NN
B Ay [ e |



5) Hj X
Web page H{ X

LALO|E B W S9! A7 T

EMHQ F=A : www.todays.kro.kr
1™ IP:3.36.207.105

® Today's x 4+ ~ - X

< C A T2 23| todayskrokr 2 &« *» 0 @ i

HOW Do YoU FEEL ING TODAY?
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